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241 + 310 =
405 + 490 =
68 + 20 =
939 + 296 =
60 + 227 =
368 + 283 =
846 + 108 =
965 + 949 =
656 + 826 =
278 + 198 =
296 + 642 =
983 + 875 =
381 + 88 =
345 + 687 =
204 + 182 =
280 + 91 =
837 + 886 =
860 + 307 =
298 + 586 =
319 + 868 =

Addition up to 1000 #4
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105 4 738 =
158 +92 =
411 + 562 =
819 + 783 =
532 + 549 =
798 + 176 =
2068 + 219 =
20 + 848 =
206 + 819 =
168 + 317 =
888 + 749 =
868 + 901 =
8065 + 620 =
397 + 018 =
203 + 484 =
967 + 957 =
964 + 560 =
74930 =
721 +903 =
783 + 520 =



B~ W N =

© oo = O Ot
_— O e T T T O

Addition up to 1000 #4 (Solutions)

241 4 310 = 551
405 + 490 = 895

68 + 20 = 88
939 + 296 = 1235
60 + 227 = 287

368 + 283 = 651
846 + 108 = 954
965 + 949 = 1914
656 + 826 = 1482
278 4+ 198 = 476
296 4 642 = 938
983 4 875 = 1858
381 + 88 = 469
345 4+ 687 = 1032
254 + 182 = 436
286 + 91 = 377
837+ 886 = 1723
860 + 307 = 1167
298 + 536 = 884
319 4+ 868 = 1187
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105 4 738 = 843
158 + 92 = 250
411 + 562 = 973
819 + 783 = 1602
532 + 549 = 1081
798 + 176 = 974
268 4+ 219 = 487
20 + 848 = 874
266 + 819 = 1085
168 + 317 = 485
888 + 749 = 1637
868 + 901 = 1769
865 + 620 = 1485
397 4+ 518 = 915
203 4+ 484 =737
967 + 957 = 1924
964 + 560 = 1524
74930 =937
721 +903 = 1624
783 4+ 520 = 1303



